EVALUATION KIT FOR PA94/PA95

MICROTECHNOLOGY

EK19

INTRODUCTION

This easy-to-use kit provides a platform for the evaluation of 4. Add banana.jaclfs as-necessanyo (;omplete connections
linear power amplifiers circuits using the PA94/PA95 pin-out. With to external C'rc,u,'ts gnd power suppl|e§. .
ample breadboarding areas it is flexible enough to analyze a 9.  Insertthe amplifier into the PCB mounting holes located in
multitude of standard or proprietary circuit configurations. Critical the space between the heatsink fins. So notsolder the pins
connections for power supply bypassing, compensation and cur- at this time.
rent limiting are pre-wired. Components not usually readily avail- 6. Hang the TW13 thermal washer near the end of a 6-32 X
able in engineering labs are provided. External connection to the 3/8" screw. Slightly pull the amplifier away from the heat
evaluation kit can be made via the terminals at the edge of the circuit sink face. Use the screw to position the thermal washer
board. These terminal pads are suitable for standard banana jacks behind the amplifier and insert the screw into the mounting
or direct soldering of wires. The schematic is shown in Figure 1. hole of the heatsink. Use a 6-32 nut to secure the screw

from the opposite side of the heatsink. It is important that
PARTS LIST the entire back surface of the amplifiers mounting tab be in
Part # Description, Vendor Quantity contact with the heatsink. Adjust the amplifiers position and
) tighten the mounting screw as necessary for this to be so.
HS27 Heatsink, Apex 1 7. Solder the amplifiers pins to the PCB.
EVAL23 PC Board, Apex 1 8. Add other passive components as necessary to complete
TW13 Thermal Washer, Apex 1 box, 10 ea. your circuit.
PEKE440A TransZorb, General 2 9. Most common configurations will ground the non-inverting
Semiconductor (440V) pin of the amplifier. J1 is a convenient way to do this if
CDcCo1 Capacitor .01pF 1kV, 2 necessary for your application circuit.
Sprague 5GAS10 10. The four holes at the corners of the circuit board are for
mounting #6 standoff spacers if desired.
ASSEMBLY 11. R1-R5aremultiple feedbackresistorsinseries. Commonly
1. See Figure 2. Insert and solder the TransZorb diodes at ayailable fesistagg do not havg gpeeakaowy vo_It_age su_ffi-
D3 and D4 (440V). cientto stan_d off the_ output voltage of the amplifier. Using
2. Insertand solder the disc bypass capacitors at C1 and C2. mu!tlple TesISIORS Wil divide degaivihe voliaggNhat each
3. Insert the HS27 heatsink and solder the solderable studs resistor must withstand.
from the opposite side of the PCB.
AUX1 AUX2 IN1 IN2 ouT RV +VS GND
FIGURE 1.
Figure 2 shows the schematic of the evalu-
ation kit's pre-wired connections. Compo- S
nents supplied with the kit are marked D?)I*
with an asterisk (*). See the amplifiers aov K
data sheet for full application information. D4x
ca 440V
|¢
AN
RS R4 R3 RZ Rl
—— WA WA—AAAN—AN——F

B 4% H # # 886-3-5753170

JUE 4% ) (i) 86-21-54151736

JVE 4% ) WL T (3 91) 86-755-83298787
Http:

www. 100y. com. tw



Http://www.100y.com.tw
User
新建印章


EK19

B 4% H # 4 886-3-5753170 l

JUE 4% J3 W (i) 86-21-54151736
JHE 4% 17 WL - (35 91) 86-755-83298787
Http://www. 100y. com. tw

EVALUATION KIT
FOR PA94/PA95 PIN-OUT

FIGURE 2.

6-32 SPACER
OPTIONAL

NOTE: FASTENERS NOT INCLUDED

TR
DANGER DELI I
HIGH VOLTAGE isel

HS27 1

s ggﬁu 12
Cc
L8 e

e

E GND MICROTECHNOLOGY
EVALZ3
COMPONENT & DUT SIDE O
4.65 X 3.37 TOP VIEW

AN
0

N

6-32 SCREW

EVAL23
PC BOARD

HEATSINK
HS27
3.00 HIGH

6-32 NUT

AMPLIFIER

THERMAL WASHER



Http://www.100y.com.tw
User
新建印章


